

LOTTINGER MODEL

$$H = -2t \sum_i c_{i+1}^\dagger c_i + H.c. + \frac{U}{2} \sum_i c_i^\dagger c_i c_i^\dagger c_i$$

↓

$$H = H_0 + H_{int} = \sum_i \left(\frac{1}{2} \hbar \omega \right) b_i^\dagger b_i + \frac{U}{2} \sum_i b_i^\dagger b_i b_i^\dagger b_i$$

LOTTINGER LIQUID

$$\psi = \sum_i c_i^\dagger c_{i+1}$$

↓

$$b_i \sim \sqrt{\frac{2\pi}{\hbar}} \psi(i)$$

$$[b_i, b_j^\dagger] = \delta_{ij}$$

$$H_0 = \sum_i \hbar \omega \left(\frac{1}{2} b_i^\dagger b_i + \frac{1}{2} b_i b_i^\dagger \right)$$

$$H_{int} = \frac{U}{2} \sum_i b_i^\dagger b_i b_i^\dagger b_i$$

PHENOMENOLOGICAL BOSONIZATION

- Derive/define rules to map inter. problems into bosonic fields

AXIOMATIC BOSONIZATION

• • • • • N particles

$$\left[\rho, \frac{N}{L} \right] = 0 \quad K_F = \frac{\pi N}{L} \quad (\text{spinless fermions})$$

Particles sitting at positions $\{x_i\} \rightarrow$ Many body wave function $\psi(x_1, x_2, \dots)$

$$\rho(x) = \sum_i \delta(x - x_i)$$

$$\bar{\rho} = \frac{1}{N} \rho = \rho_0^{-1}$$

$$X_i = \gamma \bar{\rho} + U_i$$

fluctuation

embedding on counting field

$$\Theta_i(x) : \Theta(x \cdot x_i) = 2\pi x$$

Θ_i is smooth, monotonically increasing



$$f(x) = i(e^{i\Theta(x)} - 1) \leftarrow f(x) = 0$$

$$S(f(x)) \leftrightarrow S \text{ of the zeros of } f \leftrightarrow S \text{ of } x - x_i$$

$$S(f(x)) \neq 0 \text{ for } x = x_i \quad \gamma_{x_i} \quad 2\pi \Theta_i e^{i\gamma}$$

$$S(f(x)) = \sum_{i \in \text{zeros of } f} S(x - x_i) \cdot \frac{1}{|f'(x_i)|} \quad f'(x) = 2\pi \Theta_i e^{i\gamma}$$

$$= \sum_{i \in \text{zeros of } f} \frac{1}{|f'(x_i)|} S(x - x_i) = \frac{1}{|f'(x_i)|} \sum_i S(x - x_i)$$

$$f(x) = \nabla \Theta(x) \cdot \sum_i S(x - x_i - 2\pi x_i)$$

Θ_i monotonically inc.

Poisson Summation

$$\sum_n S(x + 2\pi n) = \frac{1}{2\pi} \sum_k \hat{S}\left(\frac{k}{2\pi}\right) e^{ikx}$$

$$f(x) = \frac{\sqrt{\Theta(x)}}{2\pi} \cdot \sum_i e^{i\Theta(x)}$$

$$\Theta(x) = 2\pi x - 2\Theta(x) = 2\pi x - 2\Theta(x) \equiv 2\pi x - 2\Theta(x)$$

$$\Theta(x) = -\frac{\Theta(x)}{2} + \pi x$$

$$f(x) = \left(\rho - \frac{\nabla \Theta(x)}{2\pi} \right) \sum_i e^{i2\pi(\gamma x - \Theta(x))}$$

Θ : varies slowly

$$P=0 \quad |P| \neq 1 \text{ is more relevant than } |P|=2$$

$$[f(x), g(x)] = 0 \Rightarrow [\Theta(x), \Theta(x)] = 0$$

BOSONS	FERMIONS
$\psi_B(x), \psi_B^\dagger(x)$	$\psi_F(x), \psi_F^\dagger(x)$
$f(x) = \psi_B^\dagger(x) \psi_B(x)$	$f(x) = \psi_F^\dagger(x) \psi_F(x)$
$\psi_B(x) = \sqrt{\rho_0} e^{i\varphi(x)}$	$\psi_F(x) = ?$
$[\psi_B(x), \psi_B^\dagger(x)] = \delta(x-x')$	$\{\psi_F(x), \psi_F^\dagger(x)\} = \delta(x-x')$

BOSONS

$$[\psi_B(x), \psi_B^\dagger(x')] = \delta(x-x')$$

$$\sqrt{\rho_0} e^{i\varphi(x)} e^{-i\varphi(x')} \sqrt{\rho_0} = e^{-i\varphi(x')} \sqrt{\rho_0} \sqrt{\rho_0} e^{i\varphi(x)} = \delta(x-x')$$

if $x=x'$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

$$[\psi_B(x), \psi_B^\dagger(x)] = 0$$

FERMIONS

$$\psi(x) = \sqrt{\rho_0 - \frac{2\pi\theta}{\hbar}} \sum_p e^{i(2p+1)(\pi x - \Theta(x))} e^{i\varphi(x)}$$

$$\{\psi^\dagger(x), \psi(x')\}$$

$$= e^{-i\varphi(x')} \sum_p e^{-i(2p+1)(\pi x - \Theta(x))} \sqrt{\rho_0 - \frac{2\pi\theta}{\hbar}} \sqrt{\rho_0 - \frac{2\pi\theta}{\hbar}} \sum_p e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$+ \sqrt{\rho_0 - \frac{2\pi\theta}{\hbar}} \sum_p e^{i(2p+1)(\pi x - \Theta(x))} e^{i\varphi(x)} e^{-i\varphi(x')} \sum_p e^{-i(2p+1)(\pi x' - \Theta(x'))} \sqrt{\rho_0 - \frac{2\pi\theta}{\hbar}}$$

$$= \dots$$

$$\sqrt{\rho_0 - \frac{2\pi\theta}{\hbar}} e^{-i\varphi(x')} \sum_p e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} \sum_p e^{-i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)} \sqrt{\rho_0 - \frac{2\pi\theta}{\hbar}}$$

$$e^{-(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$

$$e^{i(2p+1)(\pi x - \Theta(x))} e^{(2p+1)[\Theta(x), \varphi(x)]} e^{i(2p+1)(\pi x' - \Theta(x'))} e^{i\varphi(x)}$$